ITI Turner 2nd Year Module 9 Advanced Turning

(1). What is ‘L’ in tailstock offset method? | caRei® Jipac [Afy | ’L’EPZIT%?

o . c
(A) Length of the taper | IR &t ddlg

(B) Length of the job | Slid &t Q’iGII‘Qf
(C) Amount taper | TR DI AT
(D) Length of offset | 3BT DI Q'H-GIISr

Correct Answer : B

(2). Which one of the following is disadvantages of taper turning by attachments?

| Frafafad § T &F 91 T S gRI SR i1 &1 JHaM 87

(A) Both external and internal tapers can be produced | IRl 3R 3fialkes gl
UHR & COY BT ITG [ohaT ST Fhdl §

(B) Power feed can be given | WWWWW%

(C) More of length taper can be produced | WW%@TW NI
faT ST qPHar g

(D) Only limited taper angle can be turned | W?ﬂﬁlﬁéﬂ?mﬁﬁﬁ
fopaT ST qPHar g

Correct Answer : D

(3). Which one of the following is disadvantage of tailstock offset method? |

CAK(® 3Hithyc At &1 afafed 0 9 oH 1 JHuH 62
(A) Power feed can be given | WWWWW%
(B) Good surface finish can be obtained | WWWWWWW

3




(C) External taper thread can be produce | mé’lﬂ NS BT IdIG fbar S
IJ&Hdl g

(D) Only external taper can be turned | Wwﬂ%wﬁé’rﬁmww
g

Correct Answer : D

(4). Which of the following property of metal is impart by annealing? | ﬁn;%r@a

oY S T 4T B UGS Bl TARHT §RT UG T ST 82
(A) Hardness | ORI

(B) Toughness | €H-

(C) Ductility | d=ddl

(D) Surface hardness | 9dg! HORI

Correct Answer : C

(5). What is the lower critical temperature for plain carbon steels? | INGEIER|

W& & fore g Ayl aomE g

(A) Below 400°C | 400°C ¥ =gl

(B) 723°C
(C) Below 600°C | 600°C & =il
(D) 570°C

Correct Answer : B

(6). Which heat treatment process, Steel is cooled in the furnace itself? | fog dm

SUAR Ufehar & Wd &1 Yl o g1 381 fordt ot g2
(A) Hardening | B'Iéﬁ'ﬂ



(B) Annealing | Q:ﬂﬁfm
(C) Normalising | TreferriT
(D) Nitriding | :IQIEAIEJI

Correct Answer : B

(7). What is the preheating temperature of steel? | LA NEdR é“é‘l ATUHTH T

87

(A) Upto 400°C | 400 ° C T
(B) Upto 500°C | 500 ° C TP
(C) Upto 600°C | 600 ° C TP
(D) Upto 300°C | 300 ° C

Correct Answer : C

(8). How to turning tool is moving in tail stock offset method? | ERESCREIL R

fafer o e ¢ vl I @I BT 82

(A) Perpendicular to lathe axis | Y 3Mef b daad
(B) Angular to lathe axis | Y 3{&f b BT

(C) Parallel to lathe axis | Y 3{&f o JHHMAR
(D) Vertical to lathe axis | AY 378 P Iyafer

Correct Answer : C

(9). Why heat treatment of metal is necessary? | Uld I dlU SUHIR | 3aTH

87



(A) To produce certain desired properties | @aﬁ%ﬁwﬁdcﬂldﬂ A D

ferg

(B) To make good appearance on the component | Ycd U 3BT IURITT T

& ferg
(C) Toincrease strength of the metal | ﬂ]ﬂﬁﬂﬂﬁﬁﬁ%%ﬂ
(D) To make the metal rust-proof | U@ﬁﬂ-?%ﬁﬁﬁ%%ﬂ

Correct Answer : A

(10). What is the purpose of normalizing steel? | T B IHA B BT 3%33
T g?

(A) Remove induced stresses | ﬁﬁﬁmﬁgvm
(B) Improve machinability | ﬂ?ﬂ‘ﬂﬂﬂﬁﬁw
(C) Soften the steel | LA DI AH BT

(D) Increase the toughness and reduce brittleness | THY Sy GﬁTQ-I":R_CITW
Pl

Correct Answer : A

(11). Which gas is used in Nitriding process? | :IIQEAIQIE"I TR & fed T &1
SUTNT {1 ST 82

(A) Ammonia | ST
(B) Helium | B
(C) Carbon dioxide | BT SZAHTRISS

(D) Hydrogen | 3|33-A|\_T|'_'|

Correct Answer : A




(12). Which heat process is increase the toughness and decrease the brittleness?

| B Tl ST UfhaT B3R 61 FeTd § 3R HIRdT B HH Bl 82
(A) Annealing | AT

(B) Normalizing | ATHATS R

(C) Tempering | CHIRT

(D) Case hardening | 94 BTSI-T

Correct Answer : C

(13). Which one of the advantage of mass production? | a%’anﬁuwma‘vrw

B I AH 82

(A) Special purpose machinery are necessary | ORIy gaie AR W%
(B) Jigs and fixture are needed | o 3R TR &l GHWT%

(C) Gauges are to be used | WWE@WWW%

(D) Time for manufacturing of components is reduced | YUch! &b AT BT Iy
FHHEITATG

Correct Answer : D

(14). What heat treatment process the Nit riding comes under? | :IIEEAIQIEJI fog

ST SUAR Ufehar & Sfdifd STarg?
(A) Hardening | BTG

(B) Case hardening | &9 TS f-7l
(C) Tempering | CHIRT

(D) Normalizing | ATHATSSIT

Correct Answer : B




(15). Where the taper threads are used? | TR Q@'W\'mﬂ@?ﬁé?
(A) Bolt | Slec

(B) Wood screw | 4S5 ¥h
(C) Stud | ¥¢s
(D) Nut | -c

Correct Answer : B

(16). What is marked ‘X" in the given figure? | d)[Trﬁ; &ﬂﬁﬁ XKl \3{%%?

AL =—m]
G -

[ Y
F .
E R o< i
T * _}er*_
H
(A) Bed | 98

(B) Cross slide release screw | WVHWTEE_S' Rttt h
(C) Tail stock | REEYD

(D) Compound slide | HUNSS WSS

Correct Answer : A



(17). Which heat treatment process is used to reduce internal stresses of a

hardened tool? | AR ¢ & AR I B HH H & ol fbg qU IuAR
TfehaT T SUANT faa STl 62

(A) Stabilizing | TECTS o1
(B) Annealing | THIfeiT
(C) Normalizing | ATHTSISHT
(D) Tempering | CHIIRAT

Correct Answer : D

(18). Which one of the following heat treatment process produces a scale free

surface on the components? | ﬁq%@aﬁﬁﬁqﬁm SUAR Ufchar el
IR U Whd Jad Idg BT (A dxdl g2

(A) Flame hardening | uﬁﬂeﬁﬁm

(B) Case hardening | WB'I@'&FT

(C) Nit riding | TTSCTf&T

(D) Induction hardening | Wm

Correct Answer : D

(19). Which metal is to be case hardened? | fog ﬂ]ﬁﬁwmﬁﬂ:ﬂé?
(A) High carbon steel | I e Ed

(B) Castiron (heavy parts) | anBT ('J-I'Iﬂ HHT)

(C) Low carbon steel parts | Al BTe T HIT

(D) Alloy steel parts | oy YTd LTUId HIT

Correct Answer : C



(20). Which quenching media is widely used for alloy steels? | WW%W
DI 1 & HifSar aags 9 ¥ IUTRT fohaT ST 82

(A) Sand | &€

(B) Brine solution | TH®IF OId
(C) Water | Ol

(D) Oil | 3Tad

Correct Answer : D



